Chapter-I1

Ideas of Development

Fill in the Blanks.

1. People desire , better wages and decent price for their crops or other products
that they produce.

2. Toget more , Industrialists may want more dams.

3. When we compare different things, they could have as well as differences

4. If is true that if women are engaged in paid work, their dignity in the household and
society
5. Visually we take one or more important characteristics of persons and compare them

based on three

6. is the income of all the residents of the country.
7. Income is total income of the country divided by total population.
8. Out of live children born, the no. of children who die within one year is termed as

infant mortality rate.
9. While averages are useful comparison, they also hide

10. Life expectancy at denotes the average expected length of life of a person at the

time of birth.
Answers
1. Regular work 2.Electricity 3.Similarities 4. Increases
5. Characteristics 6.Income 7. Average 8.1000

9. Disparities 10. Birth



Choose the Correct Answer.

1. Development of a country can generally be determined by its per capita income, health

status of people and? ( )
(a) Average Literacy Level (b) Census
(c) Age Composition (d) GDP

2. Standard of Living is measured by real per capita. ( )
(@) Ni (b) NNP  (c) GDP (d) None

3. has better performance in terms of HDI than India. ()

(a) Bangladesh (b) Sri Lanka (c) Nepal  (d) Pakistan

4, HDI stands for : ( )
(a) Human development index (b) Health development of India
(c) Human development institute (d) None

5. Average income is- ( )

(a) Per capita income / Total national income
(b) Total national income/population of the country
(c) National wealth/ Total population
(d) NNP/GDP
6. Which of the following is a developed country? ( )

(a) Britain  (b) India (c) China  (d) Pakistan



7. HDR is published by? ( )
(a) IDBI (b) Universal Govt. (c) UNDP  (d) WHO

8. The best state to live according to the above is? ( )
(@) Kerala  (b) Himachal Pradesh (c) Bihar  (d) Punjab

9. Out of live children born, the no. of children who die within one year is

“infant mortality rate”. ( )
(a) 1000 (b) 500 (c) 100 (d) 1000

10. UNDP stands for . ( )
() Universal national development percentage
(b) United national development programme
(c) United national drilling programme
(d) None of these

Answers

a 2)c 3)b 4)a 5b 6)a 7)c 8)b 9a 10)b



Match the following.

1. Measure of Development

2. Above US $ 12,600

3. Between US $1035 to US $12,600
4. Landless rural laborers

5. A girl from rich urban family
6. A person of fishing folk

7. Urban unemployed youth

8. Prosperous farmers

9. Nepal

10. India

Answers

Hh 2)i 3)e 4)a 5)b

[ ] a. More days of work
[ ] b. Freedom as has brother
[ ]c. 136

[ ] d. A good catch
[ ] e. Middle income countries

[ ] f. High support price

[ ]1g.157

[ ] h. Per Capita Income

[ ] i. High Income countries
[ 1j. Gainful employment

6)d 7)j 8)f 9g 10)c



